BRI REFBERZENTANEEEARAR (FAEH) NERA

Rl BEWMEE AL

#8  FRAE 1 (HEAER)

ERFHE

(1) ARBEFESHE - FH=y  EXx o HEAHEwA Luwt s S—a45 -
(2) FEAGELESEE LB ERHR -

— BEM I (BM3IN £605)
1. Assume the burst time for Jobl ~ Job2 ~ Job3 ~Job4 ~ Job5 is 6 ~ 4~ 10~ 4 and 2, respectively. If CPU

scheduling uses Shortest-Job-First algorithm » then average turnaround time is {A) 17.2 (B) 5.2 (C)

12 (D) 10 (E) none of the above

2. Which kind of memory contains a copy of a portion of main memory to speed up execution? (A)

ROM (B) SCSI (C) RAM (D) CACHE (E) none of the above

3. Which of the following method is not used for disk space allocation? (A) Distributed allocation
(B) Contiguous allocation (C) Indexed allocation (D) Linked allocation. (E) none of the above

4. Consider the following page reference string 7,0, 1,2, 0,3, 0, 4, 2, 3, 0, 3, 2 for a memory with
three frames. How many page faults would occur for the first-in, first-out (FIFO) replacement
algorithm? (A) 9 (B) 10 (C) 11 (D) 12 (E) none of the above

5. The structure query language (SQL) provides three types of command involving data definition
(DDL), data manipulation language (DML) and data control language. Which of the following
commands are DML? (1) Create (2) Grant (3) Drop (4) Select (5) Commit (6) Delete (7) Insert
(A) (1D(3) (B) 2X(5) (C) (4)X(6)(7) (D) none of the above

6. In database, the process to remove redundant data from table structure is called (A) structuration
(B) hierarchy (C) normalization (D) none of the above

7.  Which operation in the relational database model allows us to extract required columns and place
the result in a new relation? (A) UPDATE (B) PROJECT (C) INSERT (D) JOIN (E) none of the
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Which mechanism of an operating system can achieve multiprogramming? (A) Baich (B) Parallel
(C) Time-sharing (D) Distribution (E) none of the above

Which DBMS as follows belongs to personal scale DBMS? (A) Oracle (B) Access (C) Sybase (D)
DB2 (E) none of the above

In a relational database, which of the following description is correct? (A) each row has a primary
key and each column has a unique name (B) each column and each row has a primary key (C)
each row has a unique name and each column has a primary key (D) each row and each column

has a unique name (E) none of the above
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(B)11111111 (C)11100011 (D)11110000 -

FRALEHIHTLE 1008 A REi4 £ 804 o 453 Amdahl’s Law » &3
RAREBEERE BT ERXBATHR AR R 1/47 (A)443B)8 42 (C)16 4 (D)32

G

— B4 @ P H £ Jt 40ns » E & IF(10ns) ~ ID(5ns) ~ EXE(10ns) - MEM(10ns) ~ WB(5ns) -
#% 100 1845 4 B 84k 2k (Pipelining) 8 1% 445 538 B R 7 % D 4% ? (A)4.85 (B)2.85 (C)3.85
(D)5.85 -

The definition of the recursive function F(i,f) is as follows:

j+1, ifi=0
FG-1FG,j-1), ifi=0,j =0

(B) What is the value of F(2,2) ? (A) 7 (B)8 (C)9 (D)10 (E)none of above

In the following sorting algorithms, the average performance of which is NOT O(nlogn) ? nis
the number of element. (A)heap sort (B)quick sort (C)merge sort (D)bubble sort




18. If the hashing functionis H(X)=2X mod 13, then which of the following has a collision with
HQ@BD? (A)H18) (BYH(41) (C)H(55) (D)H(62) (E) none of above

19. Which of the following is the algorithm that merge-sort uses? (A)divide-and-conquer (B)search
(C)Greedy method (D)branch-and-bound (E) none of above

20. Let X, X,,...,X;, bethe postorder traversal of a binary tree which has the following
information.
(A) Its inorder traversal: JKDBEAHFCGI

(B) Its preorder traversal: ABDJKECFHGI
(C) Then, X,=? (A)C (B)F (C)D (D)I (E)none of above
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3. Consider the following C program. Show and explain what result will be printed?
#include <stdio.h>

#include <stdlib.h>

int main(void)

{

int numf]={18,44,32,62,19};
int *p1,*p2;
pl=p2=num;

>

printf("*p1=%d\n",*p1);

(*p2);
printf{("*p2=%d\n",*p2);

system("pause");

return Q;

4. Show that time complexity of 6#°/(logn+1) is O(n’).
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